Stokes flows "creeping flow"  
Flows with Re = 
$$\frac{L U}{v} \ll 1$$
  
for inclosure + U, L small : collodds L~10 pun  
cells U~1 pun/s  
+ U small ? oil recervoir  
L large ? U~ lan/day  
+ v large : lana, glacier  
v = 10<sup>8</sup>  $\frac{m^2}{5}$  (unother glass)  
L~1 m U~1 m/s Re = 10<sup>-8</sup>  
+ dophel of waller falling runder 9  
L~1 pun U~ 0.1 mms  
Re = 10<sup>-5</sup>

So when 
$$Re \rightarrow 0$$
,  $kn$  Narvier - Stokes eq. (becomes  
Stokes equedion  

$$\begin{cases} 0 = -\nabla p + \mu \nabla^2 \mu (+ F) \\ 0 = \nabla \cdot \mu \end{cases}$$
Typically,  $\mu$  is given on the boundary.

Suple properties a Instantaneily: us  $\frac{\partial y}{\partial t}$  term  $\rightarrow$  instantaneous response of the flow & a cleange in BCs 'quasi-steady' (love because any change in time only theoryche F(t) or BCs as for of time. no  $(\underline{4}, \underline{7})_{\underline{1}}$  term, so  $\underline{4}$  (and  $p, \underline{9}, \underline{9}$ ) is linear in F(+) and in BCS. 6 Linearity  $F(+) = A \cdot u(+)$ dependes on kie size, orhearladion, surface properties  $F = \alpha u_n(t) + \beta u_1(t)$ C Time revensibility ·apply a force F(+) on OS+St, reverse the (once; apply -E(2t,-t) on  $t_1 \leq t \leq 2t_1$ = the flow reverses its path al fluck particles relearn to their hitel positions





$$\frac{\text{The solution}}{\underline{u}} = \underbrace{\underbrace{\underbrace{\underbrace{\underbrace{\underbrace{\underbrace{\underbrace{\underbrace{1-\frac{3a}{4r}-\frac{a^3}{4r^3}}}}}_{\frac{3r^3}{4r^3}}}_{\frac{3r^3}{4r^3}} + \underbrace{\underbrace{\underbrace{\underbrace{\underbrace{\underbrace{\underbrace{1-\frac{3a}{4r^3}+\frac{3a^3}{4r^5}}}_{\frac{3r^3}{4r^5}}}_{\frac{3r^3}{4r^5}} + \underbrace{\underbrace{\underbrace{\underbrace{\underbrace{\underbrace{1-\frac{3a}{4r^3}+\frac{3a^3}{4r^5}}}_{\frac{3r^3}{4r^5}}}_{\frac{3r^3}{4r^5}} + \underbrace{\underbrace{\underbrace{\underbrace{\underbrace{\underbrace{1-\frac{3a}{4r^3}+\frac{3a^3}{4r^5}}}_{\frac{3r^3}{4r^5}}}}_{\frac{3r^3}{4r^5}} + \underbrace{\underbrace{\underbrace{\underbrace{\underbrace{\underbrace{1-\frac{3a}{4r^3}+\frac{3a^3}{4r^5}}}_{\frac{3r^3}{4r^5}}}_{\frac{3r^3}{4r^5}} + \underbrace{\underbrace{\underbrace{\underbrace{\underbrace{1-\frac{3a}{4r^3}+\frac{3a^3}{4r^5}}}_{\frac{3r^3}{4r^5}}}_{\frac{3r^3}{4r^5}} + \underbrace{\underbrace{\underbrace{\underbrace{\underbrace{1-\frac{3a}{4r^3}+\frac{3a^3}{4r^5}}}_{\frac{3r^3}{4r^5}}}}_{\frac{3r^3}{4r^5}} + \underbrace{\underbrace{\underbrace{\underbrace{1-\frac{3a}{4r^3}+\frac{3a^3}{4r^5}}}_{\frac{3r^3}{4r^5}}}}_{\frac{3r^3}{4r^5}} + \underbrace{\underbrace{\underbrace{\underbrace{1-\frac{3a}{4r^3}+\frac{3a^3}{4r^5}}}_{\frac{3r^3}{4r^5}}}}_{\frac{3r^3}{4r^5}} + \underbrace{\underbrace{\underbrace{1-\frac{3a}{4r^3}+\frac{3a^3}{4r^5}}}_{\frac{3r^3}{4r^5}}} + \underbrace{\underbrace{1-\frac{3a}{4r^5}}_{\frac{3r^3}{4r^5}}}_{\frac{3r^3}{4r^5}}} + \underbrace{\underbrace{1-\frac{3a}{4r^5}}_{\frac{3r^3}{4r^5}}}}_{\frac{3r^3}{4r^5}} + \underbrace{\underbrace{1-\frac{3a}{4r^5}}_{\frac{3r^3}{4r^5}}}}_{\frac{3r^3}{4r^5}}} + \underbrace{\underbrace{1-\frac{3a}{4r^5}}_{\frac{3r^3}{4r^5}}}}_{\frac{3r^3}{4r^5}} + \underbrace{\underbrace{1-\frac{3a}{4r^5}}}_{\frac{3r^3}{4r^5}}}}_{\frac{3r^3}{4r^5}}} + \underbrace{\frac{3a}{4r^5}}_{\frac{3r^3}{4r^5}}} + \underbrace{\frac{3a}{4r^5}}_{\frac{3r^3}{4r^5}}} + \underbrace{\frac{3a}{4r^5}}}_{\frac{3r^3}{4r^5}}}} + \underbrace{\frac{3a}{4r^5}}_{\frac{3r^3}{4r^5}}} + \underbrace{\frac{3a}{4r^5}}_{\frac{3r^3}{4r^5}} + \underbrace{\frac{3a}{4r^5}}_{\frac{3r^3}{4r^5}}} + \underbrace{\frac{3a}{4r^5}}_{\frac{3r^3}{4r^5}} + \underbrace{\frac{3a}{4r^5}}_{\frac{3r^3$$

For a transballing sphere  

$$F = -Gr \mu a U$$
force on the sphere  
Sphere relative to flow at as
$$\frac{Sedimeentation - of a sphere}{Sphere}$$
After any transpect,  $\Sigma_{i}F = 0$ 

$$U = \frac{4\pi}{3}a^{3}Ag = -Gr \mu a U$$

$$U = \frac{2}{9}a^{2}Ag = \frac{2}{\mu}F = 0$$

$$U = \frac{2}{9}a^{2}Ag = \frac{2}{\mu}F = 0$$

$$U = \frac{2}{9}a^{2}Ag = \frac{2}{\mu}F = 0$$

$$U = \frac{2}{9}a^{2}Ag = \frac{2}{\mu}F = \frac{2}{\mu}F = 0$$

$$U = \frac{2}{9}a^{2}Ag = \frac{2}{\mu}F = \frac{2$$

$$\frac{F(ou in flee far field}{Disturbance flow  $\underline{u} = \underbrace{U}\left(-\frac{3a}{4r} - \frac{a^3}{4r^3}\right) + \underbrace{(\underline{c},\underline{u})\underline{c}}_{r^2}\left(-\frac{3a}{4r^3} + \frac{3a^3}{4r^5}\right) \\ \sim \frac{1}{r} \qquad \sim \frac{1}{r^3} \qquad \sim \frac{1}{r^2} \qquad \qquad \frac{1}{r^3} \qquad \sim \frac{1}{r^2} \\ \stackrel{I}{=} \frac{1}{r^2} \qquad \sim \frac{1}{r^2} \qquad \qquad \frac{$$$

$$\underline{M} = \frac{1}{8\pi\mu} \left[ \frac{\underline{F}}{r} + \frac{(\underline{c} \cdot \underline{F})\underline{c}}{r^{3}} \right] = \frac{1}{8\pi\mu r} \left[ \underline{M} + \frac{\underline{c}\underline{r}}{r^{2}} \right] \cdot \underline{F}$$
Stoleeslet
$$G(\underline{c})$$

Mathematically, the flow is the solution to  

$$\int \partial = -\nabla p + \mu \nabla^{2} \mu + F S(r)$$
Fax field flow is informed to the flow.

as field flow is independent of the shape.

More properties of Stoles flow

$$\frac{A}{Concident two} \frac{A}{Los} (lows: \cdot \underline{u}^{S}(x), p^{S}(x)) - Stution to Stoker eq.$$
is volume is write  $\overline{F}=0$ 

$$\cdot \underline{u}(x) = any \text{ incompletify ble flow field}$$

$$(almissible flow)$$

$$\frac{Lemma}{V} \int d\mu \ e_{ij}^{S} e_{ij} \ dV = \int \sigma_{ij}^{S} u_{i} n_{j} \ dS$$

$$e_{ij} = \frac{1}{x} \left( \frac{\partial u_{i}}{\partial x_{j}} + \frac{\partial u_{i}}{\partial x_{i}} \right) \xrightarrow{mixed} discipation \qquad uoxed falls of the formula of$$

$$\int 4\mu e_{ij}^{s} e_{ij} dV = \int \left(\sigma_{ij}^{s} \frac{\partial u_{i}}{\partial x_{j}}\right) dV = (n+)$$

$$\frac{\partial}{\partial x_{j}} \left(\sigma_{ij}^{s} u_{i}\right) - u_{i}^{s} \frac{\partial \sigma_{ij}}{\partial x_{j}}$$

$$(n+) = \int \frac{\partial}{\partial x_{j}} \left(\sigma_{j}^{s} u_{i}\right) dS = \int \sigma_{ij}^{s} n_{j} u_{i} dS$$

$$(n+1) = \int \frac{\partial}{\partial x_{j}} \left(\sigma_{j}^{s} u_{i}\right) dS = \int \sigma_{ij}^{s} n_{j} u_{i} dS$$

$$(n+1) = \int \frac{\partial}{\partial x_{j}} \left(\sigma_{j}^{s} u_{i}\right) dS = \int \sigma_{ij}^{s} n_{j} u_{i} dS$$

$$(n+1) = \int \frac{\partial}{\partial x_{j}} \left(\sigma_{j}^{s} u_{i}\right) dS = \int \sigma_{ij}^{s} n_{j} u_{i} dS$$

$$(n+1) = \int \frac{\partial}{\partial x_{j}} \left(\sigma_{j}^{s} u_{i}\right) dS = \int \sigma_{ij}^{s} n_{j} u_{i} dS$$

$$(n+1) = \int \frac{\partial}{\partial x_{j}} \left(\sigma_{j}^{s} u_{i}\right) dS = \int \sigma_{ij}^{s} n_{j} u_{i} dS$$

$$(n+1) = \int \frac{\partial}{\partial x_{j}} \left(\sigma_{j}^{s} u_{i}\right) dS = \int \sigma_{ij}^{s} n_{j} u_{i} dS$$

$$(n+1) = \int \frac{\partial}{\partial x_{j}} \left(\sigma_{j}^{s} u_{i}\right) dS = \int \sigma_{ij}^{s} n_{j} u_{i} dS$$

$$(n+1) = \int \frac{\partial}{\partial x_{j}} \left(\sigma_{j}^{s} u_{i}\right) dS = \int \sigma_{ij}^{s} n_{j} u_{i} dS$$

$$(n+1) = \int \frac{\partial}{\partial x_{j}} \left(\sigma_{j}^{s} u_{i}\right) dS = \int \sigma_{ij}^{s} n_{j} u_{i} dS$$

$$(n+1) = \int \frac{\partial}{\partial x_{j}} \left(\sigma_{j}^{s} u_{i}\right) dS = \int \sigma_{ij}^{s} n_{j} u_{i} dS$$

$$(n+1) = \int \frac{\partial}{\partial x_{j}} \left(\sigma_{j}^{s} u_{i}\right) dS = \int \sigma_{ij}^{s} n_{j} u_{i} dS$$

$$(n+1) = \int \frac{\partial}{\partial x_{j}} \left(\sigma_{j}^{s} u_{i}\right) dS = \int \sigma_{ij}^{s} n_{j} u_{i} dS$$

$$(n+1) = \int \frac{\partial}{\partial x_{j}} \left(\sigma_{j}^{s} u_{i}\right) dS = \int \frac{\partial}{\partial x_{j}} \left(\sigma_{j}^{s} u_{i}\right) dS$$

$$(n+1) = \int \frac{\partial}{\partial x_{j}} dS$$

$$($$